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110 (minutes)

allow 110 (minutes) with no working shown for 3 marks 1

(e) binary fission

do not accept mitosis

1

(f) shortage of nutrients / oxygen

1

so cells die

or

death rate = rate of cell division

1
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(c) (i) any one from

(cells which are bigger) take up more space

(cells) have to get bigger or mature to divide

1
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(ii) chromosomes duplicate or

make exact copies of self

accept forms pairs of chromatids

1

nuclei divide

accept chromatids or

chromosomes separate

1

identical (daughter) cells formed

accept for example, skin cells make

more skin cells or cells are clones

1
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(d) higher magnification 1

(e) 45 (mm)

1

45 / 250 or 0.18 (mm)

allow ecf

1

180 (µm)

1

allow 180 (µm) with no working shown for 3 marks

(f) 0.2 µm

1
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